
* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

THE OEM NUMBERS WITH MARK ☆ WERE NOT INCLUDED , AND ADDITIONAL APPLICATION IS HIGHLIGHTED IN BLUE COLOR.

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0253R CEHO-66R 53540-T7J-003 ◈ OUTER R HR-V 16- 30PCS

53540-T7A-003 ☆ M14xP1.5 (40/2PCS)

CE0253L CEHO-66L 53560-T7J-003 ◈ OUTER L HR-V 16- 30PCS

53560-T7A-003 ☆ M14xP1.5 (40/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0035R CECR-34R 68275052AA ◈ OUTER R FIAT 500X 16- 36PCS

68351148AA ☆ M14xP1.5 JEEP RENEGADE 15- (50/2PCS)

JEEP COMPASS (NEW) 17-

CE0035L CECR-34L 68275249AA ◈ OUTER L FIAT 500X 16- 36PCS

68351149AA ☆ M14xP1.5 JEEP RENEGADE 15- (50/2PCS)

JEEP COMPASS (NEW) 17-

CE0038R CECR-37R 68264314AA ◈ OUTER R CHRYSLER 300 SEDAN AWD 11- 12PCS

68156906AA ☆ M16xP1.5 DODGE CHALLENGER AWD 3.6L, 5.7L, 6.4L ENG 17- (24/2PCS)

68395025AA ☆ DODGE CHARGER STANDARD 5.7L ENG 15-

DODGE CHARGER AWD 15-

CE0038L CECR-37L 68264313AA ◈ OUTER L CHRYSLER 300 SEDAN AWD 11- 12PCS

68156905AA ☆ M16xP1.5 DODGE CHALLENGER AWD 3.6L, 5.7L, 6.4L ENG 17- (24/2PCS)

68395027AA ☆ DODGE CHARGER STANDARD 5.7L ENG 15-

DODGE CHARGER AWD 15-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0081R CEF-41R 1780102 ◈ OUTER R FORD C-MAX II BH_ 10- 36PCS

BV6Z-3A130-M M16XP1.5 FORD FOCUS III (HATCHBACK,BK, BL, BM_ 11- (50/2PCS)

1826501 ☆ SEDAN, WAGON)

FORD KUGA II MA 13-

FORD FOCUS HATCHBACK ST MODEL 13-14

FORD FOCUS RS 16-

FORD FOCUS ST 15-

FORD TRANSIT CONNECT VAN/WAGON 14-

CE0081L CEF-41L 1748239 ◈ OUTER L FORD C-MAX II BH_ 10- 36PCS

BV6Z-3A130-L M16XP1.5 FORD FOCUS III (HATCHBACK,BK, BL, BM_ 11- (50/2PCS)

1826505 ☆ SEDAN, WAGON)

FORD KUGA II MA 13-

FORD FOCUS HATCHBACK ST MODEL 13-14

FORD FOCUS RS 16-

FORD FOCUS ST 15-

FORD TRANSIT CONNECT VAN/WAGON 14-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0295 CEKD-22 95952930 ◈ FEMALE RHT AVEO T300, ELECTRIC POWER STEERING 11- 50PCS

95952936 ☆ M14XP1.5 SONIC 12- (70/2PCS)

 

GM KOREA

HONDA

ADDITIONAL INFORMATION

TIE ROD END

CHRYSLER

FORD



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0735 CRF-49 GG1Z-3280-A ◈ R/L FORD TAURUS/TAURUS SHO/TAURUS POLICE MODEL 16-18 32PCS

HB5Z-3280-A ☆ M16xP1.5 FORD FLEX 16-

M14xP1.5 LINCOLN MKT 16-

FORD EXPLORER/EXPLORER POLICE MODEL 17-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0430 CLT-42 48830-32040 ◈ REAR HARRIER 4WD ACU15,MCU15,SXU15 97-03 10PCS

(CLMZ-4) 48830-21010 M10X1.25 KLUGER ACU25,MCU25 00-03 (20/2PCS)

(CLMZ-5) 48820-WB002 ☆ CARINA 4WD ST215,CT215,CT216 96-01

HIGH LANDER 4WD 01-03

LEXUS RX300 AWD 99-03

YARIS SEDAN/YARIS iA 16-

SCION iA 16

STABILIZER LINK

TOYOTA

RACK END

FORD



'* INFORMATION WAS CHANGED AS FOLLOWS , CORRECTION IS HIGHLIGHTED IN RED COLOR.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0307 CEM-12 MB192430 ◈ OUTER CORDIA,TREDIA A211A,A212A,A213A 82- 36PCS

(CEM-16) MB564991 FEMALE RHT CORDIA,TREDIA 4WD A213G,A215G 84- (50/2PCS)

(CEM-24) MB489434 M14XP1.5 CHARIOT D02W,D03W,D05W 83-

(CEKH-10R) MB192499 CHARIOT 4WD D08W 86-

MB616286 DELICA (L300) L036P,L038P,L063P,L068P,L033PV 82-86

MB573885 L036PV,L038PV,L063PV,L068PV

MB912519 L033PW,L035PW,L038PW,L063PW,L068PW

L036P,L063P,L039P,LP69P 86-

DEBONAIR S11A,S12A 86-

GALANT ∑,Λ E12A,E13A,E15A 83-87

& ETERNA ∑,Λ E55A 94-

GALANT E31A,E32A,E33A,E38A,E39A 87-98

EA1A 96-00

PAJERO EC7A 00-

 DIAMANTE  90-04

INNER MINICAB U11# 84-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0307R CEKH-6 56820-M2000 ◈ FEMALE RHT SONATA 88-93 36PCS

 56820-36000 M14XP1.5 (50/2PCS)

56882-44000  PORTER 87-96

56882-44002 SANTAMO 96-02

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0629L CES-6L 48820-A85000 ◈ MALE LHT DAMAS (CMV) 91- 50PCS

(CEKD-6L) 94583709 M14XP1.5 LABO (CMP) 91- (70/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0307 CEM-12 MB192430 ◈ OUTER CORDIA,TREDIA A211A,A212A,A213A 82- 36PCS

(CEM-16) MB564991 FEMALE RHT CORDIA,TREDIA 4WD A213G,A215G 84- (50/2PCS)

(CEM-24) MB489434 M14XP1.5 CHARIOT D02W,D03W,D05W 83-

MB192499 CHARIOT 4WD D08W 86-

MB616286 DELICA (L300) L036P,L038P,L063P,L068P,L033PV 82-86

MB573885 L036PV,L038PV,L063PV,L068PV

MB912519 L033PW,L035PW,L038PW,L063PW,L068PW

L036P,L063P,L039P,LP69P 86-

DEBONAIR S11A,S12A 86-

GALANT ∑,Λ E12A,E13A,E15A 83-87

& ETERNA ∑,Λ E55A 94-

GALANT E31A,E32A,E33A,E38A,E39A 87-98

EA1A 96-00

PAJERO EC7A 00-

 DIAMANTE  90-04

INNER MINICAB U11# 84-

 CORRECTION INFORMATION

TIE ROD END

MITSUBISHI

HYUNDAI

TIE ROD END

MITSUBISHI

GM KOREA



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0307R CEKH-6 56820-M2000 ◈ FEMALE RHT SONATA 88-93 36PCS

(CEKH-10R) 56820-36000 M14XP1.5 (50/2PCS)

56882-44000  PORTER 87-96

56882-44002 SANTAMO 96-02

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0301L CES-3L 48820-A85000 ◈ MALE LHT DAMAS (CMV) 91- 50PCS

(CEKD-6L) 94583709 M14XP1.5 LABO (CMP) 91- (70/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0283R CQN-20R 54524-EB70D ◈ LOWER R FRONTIER D40 04- 4PCS

54524-EA000 D40B 08-12

54524-EA00A D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

XTERRA N50 05-

PATHFINDER R51 04-12

CQ0283L CQN-20L 54525-EB70D ◈ LOWER L FRONTIER D40 04- 4PCS

54525-EA000 D40B 08-12

54525-EA00A D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

XTERRA N50 05-

PATHFINDER R51 04-12

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0283R CQN-20R 54524-EB70D ◈ UPPER R FRONTIER D40 04- 4PCS

54524-EA000 D40B 08-12

54524-EA00A D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

XTERRA N50 05-

PATHFINDER R51 04-12

CQ0283L CQN-20L 54525-EB70D ◈ UPPER L FRONTIER D40 04- 4PCS

54525-EA000 D40B 08-12

54525-EA00A D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

XTERRA N50 05-

PATHFINDER R51 04-12

CONTROL ARM

NISSAN

HYUNDAI

CONTROL ARM

NISSAN

GM KOREA



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV380 CVM-30 4156A004 RR STABILIZER BARGALANT FORTIS SPORTBACKCX3A, CX4A 08- 80

GALANT FORTIS/ CY3A, CY4A 07-

LANCER EVOLUTION

LANCER(CANADA) CY4A, CY5A 06-13

LANCER(MMNA) CY4A, CY5A 06-13

LANCER(P.RICO&GUAM) CY4A, CY5A 06-13

LANCER(MEXICO) CY4A, CY5A 06-

LANCER(EUR) CY3A, C44A, CY8A, CY9A 07-13

LANCER(KOREA) CY4A 08-

LANCER SPORTBACK(CANADA)CX4A, CX5A 08-13

LANCER SPORTBACK(EUR) CX3A, CX4A, CX8A, CX9A 08-13

LANCER SPORTBACK(MMNA) CX4A, CX5A 09-13

LANCER SPORTBACK CX4A, CX5A 09-13

(P.RICO&GUAM)

OUTLANDER CW4W, CW5W, CW6W 05-12

OUTLANDER(CANADA) CW5W 06-13

OUTLANDER(MMNA) CW5W 06-13

OUTLANDER(EUR/MMC-PROD.)CW1W, CW4W, CW5W, CW8W 06-12

OUTLANDER(P.RICO&GUAM) CW5W, CW6W 06-13

OUTLANDER CW1W, CW4W, CW5W, CW8W 08-12

(EUR/NEDCAR-PROD.)

OUTLANDER CW4W 10-12

(EUR/PCMA-RUS PROD.)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0380 CVM-30 4156A004 RR STABILIZER BARGALANT FORTIS SPORTBACKCX3A, CX4A 08- 80

GALANT FORTIS/ CY3A, CY4A 07-

LANCER EVOLUTION

LANCER(CANADA) CY4A, CY5A 06-13

LANCER(MMNA) CY4A, CY5A 06-13

LANCER(P.RICO&GUAM) CY4A, CY5A 06-13

LANCER(MEXICO) CY4A, CY5A 06-

LANCER(EUR) CY3A, C44A, CY8A, CY9A 07-13

LANCER(KOREA) CY4A 08-

LANCER SPORTBACK(CANADA)CX4A, CX5A 08-13

LANCER SPORTBACK(EUR) CX3A, CX4A, CX8A, CX9A 08-13

LANCER SPORTBACK(MMNA) CX4A, CX5A 09-13

LANCER SPORTBACK CX4A, CX5A 09-13

(P.RICO&GUAM)

OUTLANDER CW4W, CW5W, CW6W 05-12

OUTLANDER(CANADA) CW5W 06-13

OUTLANDER(MMNA) CW5W 06-13

OUTLANDER(EUR/MMC-PROD.)CW1W, CW4W, CW5W, CW8W 06-12

OUTLANDER(P.RICO&GUAM) CW5W, CW6W 06-13

OUTLANDER CW1W, CW4W, CW5W, CW8W 08-12

(EUR/NEDCAR-PROD.)

OUTLANDER CW4W 10-12

(EUR/PCMA-RUS PROD.)

MITSUBISHI

BUSH

MITSUBISHI

BUSH



'* DISCONTINUED PARTS ARE NOT AVAILABLE ANYMORE.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0103R CQKH-1R 54501-24000 ◈ LOWER R EXCEL II  (PONY) 89-94 4PCS

54503-24000 SCOUPE   90-95

54503-24001

54503-24101

CQ0103L CQKH-1L 54500-24000 ◈ LOWER L EXCEL II  (PONY) 89-94 4PCS

54502-24000 SCOUPE   90-95

54502-24001

54502-24101

CQ0104R CQKH-2R 54503-28000 ◈ LOWER R ELANTRA (LANTRA) 90-95 4PCS

(CQKH-13R) 54503-28010   

54503-28040   

54503-28070

54501-28000

CQ0104L CQKH-2L 54502-28000 ◈ LOWER L ELANTRA (LANTRA) 90-95 4PCS

(CQKH-13L) 54502-28010   

54502-28040

54502-28070

54500-28000

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0187 CLHO-54 51320-SS0-003 FRONT PRELUDE 92-96 25PCS

M12X1.25 (50/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0365 CLKS-4 44570-05000 REAR MUSSO 93- 20PCS

M10X1.25 KORANDO 97- (40/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0005 CNKH-2 55210-22000 RR / FRONT ACCENT 94-99 6PCS

CQ0006 CNKH-3 55220-22000 RR / REAR ACCENT 94-99 6PCS

END OF PRODUCTION

SSANGYONG

STABILIZER LINK

HONDA

CONTROL ARM

HYUNDAI

TRAILING / SUSPENSION ARM

HYUNDAI



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CU0001 CUKA-5 K710-46-650 ◈ FEMALE   LHT TOPIC 87-99 30PCS

 01363-46-650 M10X1.25P BESTA 92-00

RB9146-2320 91-99

CU0002 CUKA-6 K710-46-640 ◈ FAMALE   RHT TOPIC 87-99 30PCS

 01363-46-640 M10X1.25P BESTA 92-00

RB9146-2310 91-99

KIA

BALL JOINT-SHAFT ROD


